Multiplication par 1 000 (J)

Trouvez chaque produit.

67 X 1000 = 49 x 1000 =
80 x 1000 = 100 x 1000 =
24 x 1000 = 92 x 1000 =
47 x 1000 = 52x1000=
90 X 1000 = 32X1000=
36 Xx1000= 85 x 1000 =
65 x 1000 = 60 x 1000 =
8 x 1000 = 17 x 1000 =
74 x 1000 = 8 x1000=

94 X 1000 = 60 X 1000 =
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Multiplication par 1 000 (J) Solutions

67 X 1000=67000

80 x 1000=2380000

24 x1000=24000

47 x1000=47000

90 x1000=90000

36 Xx1000=36000

65 x 1000 =65000

8 x1000=8000

74 x1000=74000

94 x1000=94000

Trouvez chaque produit.

49 x 1000 =49 000

100 x 1 000 =100 000

92 x1000=92000

52 x1000=152000

32X1000=32000

85x1000=2385000

60 x 1 000 =60 000

17x1000=17000

8 x1000=8000

60 X 1000 =60000
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